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ECONOMICS
( Major )
Paper : 5.6

( Development Policy and the Indian Economy )

Full Marks : 60
Time : 3 hours
The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following questions : 1x7=7
wers i ppTR T ford -

(a) What was the literacy rate of India
according to 2011 Census?

20YY T CARPRE WO S[Feq AR 29

fe nfes 2
(p) Define per capita income.
T e e e |
() What is density of population?
TR g (2
(d) What is relative poverty?
SCAREF wiREel & 7
(e) What is meant by Green Revolution?
oive fem 3o B 07
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2.
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(2)

(f/ Mention one cause of industrial
unemployment in India.

Ses U FRERE GO $RT Teay T4 |
(g) What is microenterprise?

Ty Tl 1 2

Answer the following questions : 2x4=8

TS firsl eppiE Ted fore
(@) What is birthrate? What was the
birthrate of India according to 2011

Census?
T 9 2 05y N EIRPEE WO SRe

] T{ A wfEe 2

fb) Mention two causes of disguised
unemployment in India.

ST R AR 761 T Tewmy 3470
fc} Mention two objectives of Land Reforms
in India.

ORGP AP 7B Srae SeEy 790 |

(d) Write down two problems faced by large
industries of India.

©ed 28 TrIeel TR RN 75! S B o

Answer any three of the following questions :

5x3=15

wers frar epTged [ coren fofbm Teg forsn

fa) Explain briefly five basic features of
Indian economy.
25 ST ARO[ B 120 S 2 2
AR I
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(3)

(b) Suggest five measures for reducing
rural unemployment in India.
OOd A PRl 2P AT St Be
SSECEIET |

(c/ Explain the role of agriculture in India’s
economic development.

SIS WA TS IR SR e 4 |

(d) Explain the measures taken by
Government to ensure food security in
India.

SHOC 41 JTF (AP IR0 5991ca a2 =9
TIEPTZ A1 37 |

() What were the main objectives of
Industrial Policy of 19917 Explain.

355> 59 Srmifie Sife 2 TP
R 2 07 4 |

Answer any three of the following questions :

10x3=30

©Ts il s R e fofe Sag g -

(@) Discuss the trend of growth of tertiary
sector of India during the plan period.
What are the main causes of increasing

importance of the tertiary sector? 6+4=10

ﬂﬁwawmwmwaqmw
WAICETO P11 ORI 497 TN GF99 24
FRPTE [ 50
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(b)

(c)

(@)

(4)

Discuss the causes of slow growth of per
capita income of India during plan
period. 10
ARFEAN TS TR SR SR T
qfE FRPTHR A 41 |

Discuss the causes of inequality of
income in India. Suggest some
measures to improve the situation. 6+4=10
T OE SPHOR FHEPHZ SCEna F9l
ofRfRfeceR Tl sicl g T SeCe |

What are the major barriers to
agricultural growth in India? Discuss. 10
wred FRA IR e TrTRR [ 17 S
391

Discuss the role of industrialization in
the economic development of a
developing economy like India. 10

oaes e TmanE weAfe 99 e wffes
TS ST $HE! STl 41 |

Give a critical appraisal of the industrial
development strategy of India in the .
pre-reform period. 10

AFIFE  FoT0 S e TEEE
AR GF FCADIETS Jepraey ATFCeHT |
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